EZHEKE (PR TE HR 5A 258
AR (G R/ R ER)
Mix1 4 - 2 0 - 4 4 -1 |ea 22 Mix17 4 - 2 1 - 4 2 - 4 |8 13
A F—L . I F—A .
Mix2 <> 2 - 4 2 - 4 4 - x| 22 Mix18 <> 2 - 4 1 - 4 1 - 4 A 34
HARE—OyH|ETLR 2 - 3 0 - 4 4 - &t 0 ANBEFEE |5o0x 0 - 4 1 - 4 1 - 4 |&ast -21
B SR ‘A 8 -1 9|2 -10 12|12 11 1 0.00% | ‘A 6 -4 103 -9 124 -8 12 -44.68%
#:. B F—L4 Mix3 2 - 4 2 - 4 4 - Ba 27 * J F—L Mixio | 2 - 4 1 - 4 - 4 |85 20
SEE: Mix4 4 - 2 <> 4 -0 4 - xm 24 N Mx20 | 4 - 2 <> 2 - 4 - A28
| F—LXE|sorz| 3 - 2 3 -3 1 - 4 |ast 3 B| HYAREZ |¥902] 4 -0 2 - 2 - &t -8
7 Wi 5F BEA| 9 1 8 9 2 7|9 o0 9 5.88% 0 B%& |10 4 6 5 -5 105 -7 12 -16.67%
Mix5 4 -0 4 - 2 4 - 2 |ea 27 Mix21 4 - 1 -1 4 - /A 27
L C F—LA : % K F—L ,
| Mix6 4 - 2 0 - 4 <> 1 - 4 |x%& 20 | Mx22 | 4 - 1 -2 <> 1 - %x& 16
70 T oLz 4 - 0 3 -3 3 - 3 |est 7 j KA UT |gInz| 4 - A -2 0 - 1 |ast 11
NASREE S B&m 12 10 27 -2 9 8 -1 9 14.89% EN Ba% B#%m |12 9 3([10 5 5 5 -3 8 25.58%
Mix7 1 - 4 2 - 4 2 - 4 Ba 19 Mix23 4 - 2 -0 3 - 4 Ba 32
D ¥—L . L F—L .
Mix8 0 - 4 3 - 4 4 - 1 <> %A 29 Mix24 | 4 - 1 -2 4 - 1 <> xm 14
Jei’'n ZILR| 0 - 4 4 - 1 3 -3 &5t -10 A)—=ZADVDL|FTLR| 4 - 1 - 3 1 -0 &5 18
HHAE ‘&A1 -11 12]9 o0 9|9 1 8 -20.83% BRiB LC— ‘&M |12 8 4[12 7 5|8 3 5 39.13%
Mix9 4 - 3 4 - 1 2 - 4 |85 19 Mix25 0 - 4 4 - 2 - Ba 19
E ¥F—L4 . M F—L .
Mix10 <> 0 - 4 2 - 4 0 - 4 |xa 30 Mix26 <> 1 - 4 1 - 4 - %\ 29
O /n—_3 |57z 2 - 4 3 - 2 2 - 4 |ast -1 F—LE |57z 2 - 4 4 -0 1 - &t -10
&8 ‘&S 6 -5 11|9 2 7|4 -8 12 -22.45% [ ‘&S 3 -9 12|/9 3 6|7 -4 11 -20.83%
Mix1 1 3 - 4 4 - 1 4 - 3 |sx 30 Mx27 | 4 - 0 4 - 2 -0 |8s 32
| FF4 = EF|NF—L —
Mxi2 | 4 - 0 <> 4 -0 1 - 4 |x&a 16 Mix28 | 4 - 1 <> 4 - 3 -1 |x& M
E F—IA—X|5o02| 4 - 2 4 - 1 2 -1 |est 14 % ELINA—F [so02| 4 - 2 0 -0 4 - 2 |ast 21
7 iR et BxE |11 5 6 12 10 27 -1 8 30.43% 7 Bk EE Bxsm |12 9 3 8 3 5|12 9 3 48.84%
Mix13 1 - 4 1 - 4 0 - 4 B/a 13 Mix29 2 - 4 - 4 4 - 1 B/a 20
YV G F—L : % 0O F—L ,
| Mxi4 | 4 - 2 0 - 4 <> 0 - 4 |xa 31 | Mx30 | 4 - 1 - 4 <> 4 - 2 |xa 24
70 BE~7 LR FTLR| 2 - 3 1 - 4 4 - 2 |&& -18 70 candygapa [¥7LZ[ 0 - 4 -0 1 - 4 |&#+ -4
wE B B#xa |7 -2 9|2 -0 12 4 -6 10 -40.91% #iE — B%m |6 -3 95 -3 8 9 2 7 -9.09%
Mixis | 4 - 2 3 - 4 4 -0 Ba 30 Mix31 4 - 0 - 4 1 - 4 /A 21
H ¥—.L . P ¥—.L .
Mixi6 | 4 - 0 4 - 1 4 -0 <> %A 15 Mx32 | 4 - 1 - 4 2 - 4 <> %A 28
KIBEDE |4902] 4 - 2 1 -2 2 - 4 &t 15 AEBRLE [sozx| 3 - 1 2 - 4 4 - 1 &t -7
INRD R B%m |12 8 4|8 1 7([10 6 4 33.33% L e BEA |11 4 73 -9 127 -2 9 -14.20%
ao/8N——3 A0 SEA[FRER. SRR, AR AR IAF L 85K KEL T AK ElEEK, WE. %, HE RE BR
Joy'n o 55 kT, AR, iR, A, HH WHE~WNT=ZHA [#H B2 |#H. Al A5, J0fk. Ek. &
VARX—OvY |58 EEeE. BH. 5=, =H A B 573 HKE B [HE 5%, %5 KL T @aX
F—LXEER [H FF|WHF ZE =VO. EHA EHLWLA—F Sk BE (5. EB. EE. =k
7UT _|[EBEF[EH. % EE AL KERADE MRS ERNES, I, WS, KF, NES
A—ILRAE—X |fEiE &t |FRtE., S8R, v, WWE A)—22ADVDOL  [ARER IE— [ARER. b, HE. Bl
HEE= MR B [DAR, NAL R, N, B F—LE P AF (R, EF, gk, bR
candypapa 7alE A—|FEH., Tk, NE. T8 AEEL Al B [Hl EK KE, AR
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3 AR T

mix1 6-1
mix2 6-2
mwl 2-2
wwl -

3 AR T

mix1 3-6
mix2 6-5
mwl 4-0
wwl -

BT #7

B30T C 45z
2/_(1#13“}’7 mix1 6-5
BE HE | mx2 6-3
Eas | 10
Clav/s—=3 - mix1
#8565 mix2
7| wwt o
2 HAREZ | mix1 6-3
INR B | mix2 2-6
L 1 4-1
g | W
mwl -
AERd
Hil B
EEAL D 535z
Joy'n mix1 3-6
o EE | mix2 6-4
o | wwl 2-0
p| RR4L |0 T
BHB~NTFZRLDR mix1
p| BEEE mix2
5| Aga !
A|ARB#17| mix1 6-0
HHE BR | mix2 6-2
o | wwl 4-1
E%Mi mwl -
F—LE

aN—=13

HYEEZ

Joy'n

ABHIFR ——

3, MERTEH

mix1 6-1
mix2 6-2
mwl 4-1
wwl 1-4

3. ABLRTEE

mix1 6-0
mix2 6-0
mwl 4-1
wwl 4-2




